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Finite Difference Approximations

Let «(f) := E[Y(0)] be the price of a particular derivative security.
Then o/(6) is the derivative price's sensitivity to changes in the parameter 6.

e.g. If Y =e"T(Sr — K)* in the Black-Scholes framework and 6 = S, then
o/ () is the delta of the option (and it can be calculated explicitly.)

In general an explicit expression for o’ () not available

- but we can use Monte-Carlo methods to estimate it.
One approach is to use the forward-difference ratio

Ap e ol + h}) - (1(9)'
)

Generally don't know (6 + h) (or «(6)) but we can estimate them.
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Finite Difference Approximations

Simulate n samples of Y () and a further n samples of Y (6 + h).
Let Y,,(f) and Y, (0 + h) be their averages and then take

Y, (04 h) — Y, (6)
h

AF =
as our estimator.
If o twice differentiable at 6 then
/ 1 " 2 2
a(@+h) =ad) + o' (0)h + 501 (0)h* 4+ o(h?)
and so the bias of AF satisfies

Bias(Ay) := E [AF . (1'(9)} - %(1”(9)h+ o(h). (1)
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Finite Difference Approximations

Could instead, however, simulate at # — h and 6 + ~ and then use the
central-difference estimator

. Yo(0+h) — Y, (0 —h)

Ao =
¢ 2h (2)

as our estimator of o/(0).

The same Taylor expansion argument then shows that the bias of AC satisfies
Bias(Ac) := E {AC - 0/(9)} = o(h)

which is superior to the O(h) bias of A in (1).

The central difference estimator requires a little extra work. Why?!

But we prefer it to the forward-difference estimator on account of the superior
convergence of its bias to zero.
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Variance of the Finite Difference Estimators

Very reasonable to assume the pairs (Y (6 + h), Y(6 — h)) and
(Y;(0+h),Y;(0 —h)) for i=1,...,n are lID.
Then follows from (2) that

Var (Y(0 +h) — Y (0 —h))
4nh?

Var (Ac) =
so analyzing Var (AC) comes down to analyzing Var (Y(0 + h) — Y(0 — h)).

There are three cases that typically arise:

O(1), Case (i)
Var (Y (0 +h)— Y (0 —h)) = { O(h),  Case (ii) (4)
O(h?), Case (iii).

Case (i) occurs if we simulate Y(6 + h) and Y(0 — h) independently since then

Var(Y(0+h)— Y(0—h)) = Var(Y(@+h))+(Y(0—h)
S 2Var(Y(9).
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Variance of the Finite Difference Estimators

Case (ii) is the typical case when we simulate Y(0 + ) and Y (6 — h) using
common random numbers, i.e. when we simulate Y(0 + ) and Y (6 — h) from
the same sequence Uy, Us, ... of uniform random numbers.

In that event, Y(6 + h) and Y (6 — h) should be strongly correlated so that
Var (AC) = 0(h~Y) in (3).

For case (iii) to apply must again use common random numbers with the
additional condition that Y () is continuous in 6 almost surely.

This last condition is often not met

- which is why case (ii) is the typical case when common random numbers are
used.

Under case (iii) we see Var (Ac) in (3) is independent of h as h — 0

- so no need to worry about a variance explosion.

7 (Section 1)



System Comparison and Common Random Numbers

Common random numbers should always be applied when estimating Greeks
using finite difference estimators.

More generally, common random numbers can be very useful whenever we are
interested in comparing the performance of similar systems.

The following example does not involve the estimation of a sensitivity but it's
clearly in the same spirit as the problem of estimating finite differences via
Monte-Carlo.

While in general it cannot always be guaranteed to work, i.e. decrease the
variance, common random numbers are often very effective, sometimes
decreasing the variance by orders of magnitude.

The philosophy of the method is that comparisons of the two systems should be
made “under similar experimental conditions”.
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Comparing Two Queueing Systems

Consider a queueing system where customers arrive according to a Poisson
process, N (t).

System operator needs to install a server to service the arrivals and he has a
choice of two possible servers, M and N.

In the event that M is chosen, let S!™ denote the service time of the i"
customer, and let X™ denote the total time in the system of all the customers
who arrive before time T'. That is,

N(T)
X?H, — Z I/I/'i"?),
i=1
where W™ is the total time in the system of the i*" customer.

This implies W/ = S™ + Q" where Q!" is the waiting time (before being

(2
served) for the " customer.

SP, X", W and @} are all defined in the same way for server N.
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Comparing Two Queueing Systems

The operator wants to estimate
0 =E[X™] — E[X"].

Obvious approach is to estimate 6,, := E[X™] and §,, := E[X™] independently
and then set § = ém — én

Variance of § then given by
Var(0) = Var(f,,) + Var(d,,).

But can do better by allowing 0,, and 6, to be dependent for then
Var(é) = Var(é,,,,) + Var(é,,,,) - 2Cov(é,,,,_. OA,,,,).

If we can arrange it that Cov(f,,,6,,) > 0, then can achieve a variance reduction.

Sometimes can achieve a significant variance reduction using common random
numbers.
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Comparing Two Queueing Systems

Let X™,..., X" and X[*,..., X be the sets of r samples that we use to
estimate E[X™] and E[X™], respectively.

Now set
Zi=X"— X", i=1,...,r

If the Z;'s are IID, then
é _ 22:1 Zi
r

Var(X™) 4+ Var(X]*) — 2Cov(X]"*, X)

Var(6)

r

To reduce Var(6), would like to make Cov(X™, X7) as large as possible.
Can achieve this by using common random numbers to generate X" and X/*.

In particular, we should use the same arrival sequences for each possible server.
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Comparing Two Queueing Systems

We can do more: while S" and S;* will generally have different distributions we
might still be able to arrange it so that 5] and S]* are positively correlated.

For example, if they are generated using the inverse transform method, we should
use the same U; ~ U(0,1) to generate both S!™ and S

Since the inverse of the CDF is monotonic, this means that S;* and S} will in
fact be positively correlated.

By using common random numbers in this manner and synchronizing them
correctly as we have described, it should be the case that X/” and X are
strongly positively correlated.

For example, if X" is large, then that would suggest that there have been many
arrivals in [0, T'] and / or service times have been very long. But then the same
should be true for the system when N is the server, implying that X should also
be large.
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The Pathwise Estimator

Recalling that a(f) := E[Y(0)], the pathwise estimator is calculated by
interchanging the order of differentiation and expectation to obtain

@(0) = gErv o] - €| 750 (5

Need to justify the interchange of differentiation and expectation in (5)!

To operationalize (5) must first explicitly state the relationship between Y and 6.

We assume there is a collection of random variables { Y (0) : @ € ©} defined on a
single probability space (2, F, P).

If we fix w € Q then can consider § — Y (0, w) as a random function on © so

v(0)= 200 _ 10,0

is the derivative of this random function with respect to 6, taking w as fixed.
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The Pathwise Estimator

This is what we mean by the pathwise derivative of Y at 6.

Implicitly assuming it exists with probability 1
- which is usually the case

- and if so then the rightmost expectation in (5) is then defined.
All that then remains is justifying the interchange of differentiation and
integration in (5)

- note that sometimes this interchange is not justified.

But before addressing this issue we consider various examples from Glasserman ...
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The Pathwise Estimator: Delta of a European Call

Consider a European call strike K, maturity 7" in the Black-Scholes framework.
First write the option payoff as

Y = T (8r—K)" (6)
Sr = Soe(r—%)ﬂroﬁz (7)

where Z ~ N(0,1). It follows from (6) and (7) that

oY  9Y 98t
28 08t 0S5
. S
= ¢ Tl{sr,‘>K}S*:' (8)

The estimator (8) is easily calculated via a Monte-Carlo simulation.

Should also be clear that (8) is valid for any model of security prices where

Sy = SpeXt for any (risk-neutral) stochastic process X; that does not depend on
So.
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The Pathwise Estimator: Vega of a European Call

A similar argument shows the pathwise estimator for the vega of a call option in
the Black-Scholes world is given by

oY

3 = T (—UT—i—\/TZ) St 1lis,>K)

o7 <10g (S7/S) —(r+02/2) T

g

) St 1l{s,>K}- (9)
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The Pathwise Estimator: Path-Dependent Deltas

Consider an Asian option with payoff

_ 1 &
Y=e"T[5—K]" —
CTE-KT 5=
for some fixed dates 0 < t; < -+ < &, < T.

Assuming the Black-Scholes framework, would like to construct the pathwise
estimator for the delta of this option. We have

oYy 9y 98 _ T 28
Sy 95 08y {5>K} 850

oS
—rTq _ ti
€ 1{S>K} Z 35S,

= l‘37TTl{S>K}

i=1

—rT
= e’ 1{5‘>K}
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The Pathwise Estimator

We haven't justified interchanging the order of differentiation and integration as
in (5) to show that these estimators are unbiased.

But a general rule of thumb is that the interchange can be justified when the
payoff Y is (almost surely) continuous in 0
- clearly the case in the examples above.

In contrast, the interchange is generally invalid when Y is not continuous in 6.

This means in particular that the pathwise method does not work in general for
barrier and digital option

- will return to barriers and digitals later.

Exercise: Show that the pathwise estimator of the vega of the Asian option is
given by
oYy

_, 1 <98,
9o € T1{5'>K}

—\y 2k 1
m <~ oo (10)

where 08y, /0o is given by the term in parentheses in (9) with T' = ?; times S,.
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The Pathwise Method for SDEs

Have only considered GBM models so far but the pathwise method can be
applied to considerably more general models.

e.g. Suppose a security price S; satisfies the SDE
dSt = /,LtSt dt + O'tSt th
where p; and oy could be stochastic but do not depend on Sj.

Then 1t6's Lemma implies

T T
Sp =Sy exp (/ (e —07/2) dt +/ o th> (11)
0 0
and so we still have 057 /05y = S1/5.

Indeed this expression holds more generally for any model in which
S; = Soexp(X:) as long as the process X; does not depend on Sp.

The following example is one where the process is not linear in its state.
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Square-Root Diffusions

Suppose X; satisfies the SDE
dX, = k(B — X;) dt + o/ X, dW,.
Can't find an explicit expression for X; it is well known that
Xi ~ axy; (e2Xo)

where x'? (c2Xp) is the non-central chi-squared distribution with v d.o.f and
non-centrality parameter c; Xj.

As long as v > 1 then X; can be generated using the representation
2
X, = <(Z + \/CQXO) - x3_1> (12)

with Z ~ N(0,1) and x2_, an ordinary chi-squared random variable with v — 1
d.o.f and independent of Z.
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Square-Root Diffusions

It follows that

0X ( Z )
— = C % 1 + . 13
X, C1C2 2 Xo ( )

More generally, if we need to simulate a path of X; at the times t; < t, < --- <
then we can use (13) (with 0 and ¢ replaced by t; and #;11, respectively) to
obtain the recursion

8Xt17+1 _ 6Xti+1 aAXt,-
0Xo 90X, 09X

14 Ziy1 0Xy,
= c14Co; —_—
1,i02, /;01,2)(“ aXO

where Z; 11 ~ N(0, 1) is used to generate X, , from X,..

i1
The constants c;; and ¢ ; depend on the time increment ¢;11 — ¢;

- see Example 7.2.5 of Glasserman for further details.
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Inapplicability of Pathwise Method for Digital Options

Consider a digital call option which has discounted payoff
Y = 6_7‘T1{ST>K}' (14)

Note that Y /9Sy = 0 everywhere except at S = K where the derivative does
not exist.

The pathwise derivative therefore exists and equals zero almost surely. Therefore
have 87 3
0=E —E[Y
L)SJ 7 05y Y]

so clearly the interchange of expectation and differentiation is not valid here!

Intuitively, the reason for this is that the change in E[Y] due to a change in Sy is
due to the possibility that the change in Sy will cause St to cross (or not cross)
the barrier K. But this change is not captured by the pathwise derivative which
is zero almost surely.
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Inapplicability of Pathwise Method for Estimating Gamma

For the same reason the Black-Scholes gamma cannot be estimated via the
pathwise method because the “payoff” for the gamma is the delta of (8).

In particular, the gamma for a European call option with Y as in (6) is given by
0? 0 0
—E[Y] = — | =E|Y
0S¢ Y] 350 (850 [ ]>
0 oY
- 5% |o%) =

5} . St
— 8750 E |:6 T1{5T>K} SO:| .

The interchange of expectation and differentiation in (15) is justified (as we
noted earlier) by our rule of thumb.

However, as was the case with the digital option, we cannot interchange order of
expectation and differentiation in (16) and therefore obtain an unbiased pathwise
estimator for the gamma of the call option.

This observation is also true for barrier options.
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The Likelihood Ratio Method

In contrast to the pathwise method, the LR method differentiates a probability
density wr.t. the parameter of interest, 6.

It provides a good potential alternative to the pathwise method when Y is not
continuous in 6.

In order to develop the method we write the payoff as V = f(X;,..., X,,)
- the X;'s might represent the price of an underlying security at different dates

- or the prices of several underlying securities at the same date.

We assume that X has a density ¢ and that 6 is a parameter of this density

- will therefore write gy and use Ey to denote expectations are taken w.r.t gy.

Can therefore write

E(Y] = [ f@)go(o) v (17)
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The Likelihood Ratio Method

Can now differentiate across (17) to obtain

0/(9) = % Eg [Y]
0
= - f(m)% go(z) dx (18)

— have assumed the interchange of the order of differentiation and integration is
again justified.

Writing gg for Oge /00 we can multiply and divide the integrand in (18) by gy to
obtain

~

! = T go(z z) dx
« (9) - - ( )ge(z) g@( ) d
_ 90(X)
- &g -

The ratio gg(X)/ge(X) is known as the score function.
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The Likelihood Ratio Method

While the interchange of the order of differentiation and integration needs to be
justified this is typically not a problem since density functions are usually smooth
functions of their parameters

- unlike option payoffs which are the focus of the pathwise approach.
Also worth noting there is considerable flexibility in whether we choose to view 6
as a parameter of the payoff Y or of the density g.

In (7), for example, it's clear that Sy is a parameter of the path and not of the
density which is N(0,1) there.

But could also have written the density as a function of Sy as we now do ...
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The Black-Scholes Delta

The lognormal density of St is given by

1 . o) log(z/S) — (r —o2/2)T
o) = o), <o) L

where ¢(-) denotes the standard normal density.

Taking 8 = Sy we see that the score is given by

@/
ww - O,
_ log(z/Sy) — (r —o2/2)T
500'2T ’

An unbiased estimator of the delta in then obtained by multiplying the score by
the option payoff as in (19).
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The Black-Scholes Delta

If St is generated from Sy as in (7) with Z ~ N(0, 1) then ¢(S7) = Z and the

estimator simplifies to
ocC
950

A
S()O'ﬁ

where C = Ey[Y] denote the Black-Scholes call price.

= E|e"T(Sy — K)* (20)

Expression inside expectation in (20) is our LR estimator for the option delta.

Note that given the score Z/Soaﬁ, we can immediately compute the delta for
other option payoffs as well

- a particular advantage of the likelihood ratio method.

e.g. The delta of a digital can be estimated using

o7 Z
e 1 e
Ky g VT
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Path-Dependent Deltas

Consider our Asian option where the payoff is a function of Sy, ,..., S5, .
Markov property of GBM implies we can factor joint density of (Sy,,...,S;, ) as
Q(Tl PRI .77,,,,) =0 ('77'1 ‘ SO),QQ('??Q ‘ Tl) o g’m,(xm | '77777/7'1) (21)

where each g;(z; | zj—1) is the (lognormal) transition density from time ¢;_; to
time t; and satisfies

9i(zj | mj—1) = ;MCJ(%\%—M

Zjo\/1j = tj-1

with )
log(wj/mj—1) — (r —0?/2)(t — tj—1)
g tj — tj,1 '

Gi(wjlzj—1) =

Note that Sy is a parameter of the first factor g; but not of the other factors.
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Path-Dependent Deltas

From (21) it therefore follows that the score satisfies

9log (9(Sh,---»5,)) _ 0log(91(Sy | S0))
050 050
G1(51]5)
Soov/t
This last expression can be written as
Z
Soov/ty

where Z; is the standard normal used to generate S;, from Sy as in (7).

The LR estimator of the Asian option delta is therefore given by

Zy
500'\/5’

e T (S — K)+

30 (Section 3)



Path-Dependent Vega

Suppose we wish to estimate the vega for the same Asian option.
First note that o appears in every transition density g; rather than only g;.

Omitting some of the calculations, this implies the score takes the form

dlog (g(Sy,,.--,5)) ialog(gj(&ﬁs@fl))
oo 0o

j=1

_ 9%
= Z( + ¢ (Sy18y) 8;)

1) (22)

with the Z;'s IID normal and each Z; used to generate Sy from Sy _,.

_ ;( ,70_
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Bias of the Likelihood Ratio Estimator

Justifying the interchange of the order of differentiation and integration in (18)

needs to be justified mathematically in order to guarantee the LR estimator in
(19) is unbiased.

This is rarely an issue, however, since density functions are usually smooth
functions of their parameters and such smoothness is generally sufficient to
justify the interchange.

But worth considering the issue as it will help shed some light on why the
variance of LR estimators can be very large.
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Bias of the

Likelihood Ratio Estimator

Recall that the goal

o/ ()

is to compute

-2 [ H@a(a) ds

[ s ()
R (25 i

= g g (8 [0S e penr). @

Let's now fix h and consider the first expectation in (23).

We recognize Ey {f(X)M} as an importance sampling (IS) estimator of

Eon [f(X)].

90 (X)

And we know that for this IS estimator to be unbiased we require an absolute
continuity condition, namely that go(z) > 0 whenever gg14(z) > 0.
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Absolute Continuity

Glasserman provides a simple example where this absolute continuity condition
fails.
In particular, let
1
90(7) = 9 Lio<a<o}

and note that it is differentiable in 6 for any fixed z € (0, 6)
- so the score exists w.p. 1 and equals —1/6.

But it can be easily checked that the LR estimator of the derivative of Eg[X] is
biased.

Exercise: Show the expected value of the LR estimator is —1/2 whereas the true
sensitivity is +1/2.

34 (Section 3)



Variance of the Likelihood Ratio Estimator

In practice, use of the LR method tends to be limited by either:
(i) not having gy available explicitly
or

(ii) the absolute continuity requirement being "close” to not holding.

In case (ii) the variance of the LR estimator can be very large and in practice,
this is often the problem that we actually encounter.

e.g. Can see from (20) that the variance of the LR estimator will be very high
when T is close to 0 and in fact it will grow without bound as 7' — 0.

Can be a serious problem for the method more generally when the payoff of the
derivative security depends on the underlying price at a range of times with small
increments between them.

e.g. Consider the score in (22) for the path-dependent vega.

If we keep the time increments ¢; — t;_; fixed but increase m then the variance of
the score will increase linearly in m.
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Variance of the Likelihood Ratio Estimator

Could also, however, keep the maturity 7" fixed and increase m by shrinking the
time increments t; — t;_1.

In this case we see again that the variance of the score can increase without
bound as m — oo.

Exercise: Can you see how an absolute continuity argument can help to explain
why the variance of the scores in (20) and (22) grow without bound as 7' — 0
and m — oo, respectively?
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Variance Comparison of Pathwise and LR Estimators

Following Glasserman, we study the growth in the variance of the vega estimator
of an Asian option as the number of averaging periods, m, varies.

We estimate the variance of the pathwise and LR vega estimators given by (10)
and (22) (multiplied by the discounted Asian payoff of course), respectively.

Parameters are: Sy = K =100, 0 = 0.3, » = .04 and equally spaced dates
corresponding to 1 week, i.e. t; — t;_1 = 1/52 for all j.

The results are displayed on next slide and are based on 500k samples.
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Estimating Second Derivatives

A similar argument to the one that lead to (19) can be used to show that

9o (X)
fX) 90(X)

is an unbiased estimator of the second derivative

o (0) = —

Of course the correctness of (24) relies as usual on the interchange of the order
of expectation and differentiation being justified — which is typically the case with
the LR method.

Even more so than the score, however, the estimator in (24) can often lead to
very large variances.

There are various possible solutions to this problem including the combination of
pathwise and LR methods.

e.g. Use the pathwise estimator to estimate the first derivative and then applying
the LR estimator to the pathwise estimator to obtain an estimator of the second
derivative.
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Combining the Pathwise and Likelihood Ratio Methods

Can combine the pathwise and LR estimators in order to leverage the strengths
of each approach.

e.g. Consider problem of estimating the delta of a digital call option with strike
K.

Know that the pathwise approach cannot be used directly here.

Nonetheless can proceed by writing the digital payoff as

lasky = fo(@) 4+ (Liasky — fo(2))
fe(z) + he(z)

where

fe(z) := min {1,
and he(z) := lypu iy — fe().

Note that f.(z) is piecewise linear approximation to the payoff function 1y, k3
and that h.(z) corrects the approximation.

max {0, z — K + €}
2e
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Combining the Pathwise and Likelihood Ratio Methods

We can apply the pathwise estimator to f.(S7) (since it's continuous almost
surely in Sp) and the LR estimator to h.(ST).

Assuming as before that S; ~ GBM(r, o), the resulting estimator is given by

e [0 Sr ¢(Sr)
e T x | =115, kleor —= + he(St . 25
% {|Sr—K|<e} So ( I)S()O'\/T ( )

Figure on next slide plots the variance of the estimator in (25) as a function of e.

Not surprising to see variance of the mixed estimator increase as € decreases.
Why?
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